INPUT GROUP REFERENCE PLANE
PTO GROUP MOUNTING FACE
LEFT MOUNTING BRACKET FACE
RIGHT MOUNTING BRACKET FACE

©®13.5 DRILL THRU

16 HOLES EQUALLY SPACED ]
USE GRADE 8.8 PROPERTY CLASS

SCREWS PER ISO 898-1 AND

TORQUE PER S574 TO SERVICE

MANUAL VALUES.

254 —=

NOTES: !

A.PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING - DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/ POWER SUPPLY VOLTAGE
2. OPERATION TO BE PERFORMED WITH ONLY
TWIN-DISC CONTROL SYSTEM MODULES

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION PUSH TO ENGAGE PRIMARY CLUTCH
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION PULL TO ENGAGE SECONDARY CLUTCH

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN CENTERED POSITION AND OPEN
WHEN LEVER IS ACTUATED FROM CENTERED POSITION
2. CURRENT =20 AMP MAX.
3. FOR WIRING SCHEMATIC REFER TO CONTROL DRAWING

©»511.112+0.064

D. UNLESS OTHERWISE SPECIFIED FASTENER TORQUE
VALUES AS PER S574 STANDARD

E. ALL POINTS AVAILABLE FOR TESTING CODED

F. REFERENCE S930 FOR TWIN DISC REQUIREMENT
PRESSURE AND TEMPERATURE ALARM LEVELS.

OR

0 466.7
438.2+0.2

]

SECONDARY CLUTCH(FIRST)
ACTUATING PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

&)

SECONDARY SOLENOID

ENGAGES CLUTCH ON

THE SECONDARY SHAFT

SEE NOTE A
INPUT SPEED SENSOR PORT
5/8-18UNF-2B TH'D.
TARGET WHEEL 45 TEETH
@

4405

242.9

FLYWHEEL OUTLINE
MUST CONFORM TO
SAE J620 SAE 355

13.0 —

SAE #1 PER
SAE J617

SECTION A-A

MAIN PRESSURE PORT
M27x2.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 757 Nm

FILTER DRAIN

M10x1.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 12+1 Nm

OIL FILTER

4X ¢ 8.80 ¥ 30.00
M10X1.5 - 6H ¥ 24.00

| BREATHER OR
/OIL FILLER HOLE

193.1

~—— 143.7 —

4]

2X ¢ 18.00 V¥ 38.00
M20X2.5 -6H ¥ 32.00
EQUALIZE LOAD ON BOTH
TAPPED HOLES TO LIFT
MARINE TRANSMISSION
ONLY

L

19.0 mm CLEARANCE REQUIRED
TO REMOVE FILTER CANISTER.
APPLY OIL TO FILTER GASKET.
TIGHTEN FILTER AN ADDITIONAL
2/3 OF TURN AFTER FILTER

GASKET MAKES CONTACT

- -—PRIMARY CLUTCH

PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16£1.5 Nm

SECONDARY CLUTCH

MAIN PRESSURE PORT

M10x1.0 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 12+1.0 Nm

%

LUBE PRESSURE PORT
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 20+2 Nm

©)

= =]

PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16£1.5 Nm

@

MAIN PRESSURE PORT
M12x1.5 METRIC PORT
CONFORMS TO ISO 6149

CONNECT OIL PRESSURE
GAUGE LINE HERE.

L

TIGHTENING TORQUE 16£1.5 Nm

4 4o it 1]
NN
O, _
e
| ®
YT I®)
A —

W\
1

A X%

PRESSURE PORT

PRIMARY CLUTCH(FIRST)

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

MANUAL DIRECTIONAL
CONTROL VALVE

5 mm TRAVEL FROM CENTERED
POSITION (EACH DIRECTION)

SEE NOTE 'B'

SEE NOTE "C"

PRIMARY CLUTCH(FIRST)
ACTUATING PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149

TIGHTENING TORQUE 16+1.5 Nm

PRIMARY SOLENOID
ENGAGES CLUTCH ON
THE PRIMARY SHAFT
SEE NOTE A

1]

& WATER[[~~ T/ . |
ouT i
| 2 =l o @ | L]
S PRIMARY CLUTCH(SECOND) ol \ ; _
3 PRESSURE PORT |
2
o [ | R o S — PRIMARY CLUTCH(SECOND) | 2, M14x1.5 METRIC PORT | =
PRESSURE PORT ainyz . 2\ % CONFORMS TO ISO 6149 ; 5 — —
- M14x1.5 METRIC PORT | , b S JJ N % 7 TIGHTENING TORQUE 20+2 N — \ o —
CONFORMS TO ISO 6149 . W T Uy ®© ) EA 0 N | iy DR
=il TIGHTENING TORQUE 2042 Nm B : @] s L = \ %, 0 o o Ee—— =
T v ) S i o LS pses /. OIL GAUGE B m— L — §
= N =7 ' AN o ‘ % T =]
I ;11u + - O . O I \ \\\\:\\ \ \ | — ]
i ‘ N
_ S A o O o :
I | = N -
= | ! — AL R I R B o =f —
] A - h‘: i) —
E tfo) ij N — 7|7 1 TWIIN i : | ‘ ;
- = \ | i © ) [Pwmemaeeson § | Il ] —
3 = ’ _— 2 | =" J ’ PRIMARY © T =ull
<+ M LUBE PRESSURE PORT ! T A i i\ SRS LIJ B —
© [0 M14x1.5 METRIC PORT \ / kg ~ O =1
CONFORMS TO 1SO 6149 &) \ / — S S SZ =
| TIGHTENING TORQUE 20+2 Nm i G/ O 5 o & 1.3 mm CLEARANCE
— @ o — Y O | O— Q REQUIRED TO
= . ’ REMOVE PUMP
mE I i \—SECONDARY CLUTCH(SECOND) ™ & / P O e
N / W\ e
B o : centes oF S E NI . | 5
— N ' GRAVITY N(®) Y10 | 2
| CONFORMS TO ISO 6149 - ! v | . ~ %
: TIGHTENING TORQUE 20+2 Nm 7 \g' J) / >
P1fess 7 // \ e}
. — - NN o 7/( \ (8]
OlL STRAINER/ . ~—— 7 e
@ M12x1.75 THREAD, 12.0 DEEP N S @) L, \ o
90 mm CLEARANCE REQUIRED A I \ B >
TO REMOVE OIL STRAINER N L
SECONDARY CLUTCH(FIRST) ‘ —=Qod Or—
007 CENTER OF PRESSURE PORT ! OUTPUT
- il GRAVITY M14x1.5 METRIC PORT —— SHAFT G
C%NFORMS(»; ToO |88 6149 A 13
TIGHTENING TORQUE 20+2 Nm 40.0 ——|=—m (4] :
= 650 —~ M20X2.5 THREAD, 32.5 DEEP OUTPUT SPEED
12 HOLES. USE ALL (12) HOLES, SENSOR BRACKET 438.4
6 PER SIDE FOR MOUNTING, = 305.0 -~ 305.0 - TARGET WHEEL: 64 TEETH
=100 CRPSCREWS PER 130 8961 OIL DRAIN PLUG 1141 = 57 1 -
AND TORQUE TO S574. M22X1.5 THREAD
CONFORMS TO ISO 6149
TIGHTENING TORQUE 5445 Nm
1747 15 mm CLEARANCE REQUIRED
R ' - DIRECTION OF OUTPUT TO REMOVE PLUG
FLANGE ROTATION -
(R.H. ENGINES DRIVING EQUIPMENT SHOWN: e e
THRU PRIMARY CLUTCH) -MGX'5136A PER 1025600 ASSEMBLY
- SAE #1/SAE 355 CF-RF-318-HR - PX13289 FIRST USE ASSEMBLY: 1025600 : MATERIAL: DATE:
- GP VALVE WITH EC300 ADAPTER HARNESS - 1025691 meruse wooee moxataen | S0 AN T ] o st 4/24/2015 @
smepmury o OSSR OONE e, P R4S i
$190.5 H.C. 8 HOLES EQUALLY SPACED  _ 1012, 224 LIVE PTO ADAPTER - 1029865 T METRIC R D B G = ORAIN Y
REF. - PUMP (MONT30000 - ITGP030BZ13RE.) Xx % _ GHEGKED B 1027607 A
e T eI 0T e [PEOPTON
VIEW B-B ssoncd MNBISC NCORFORATER | "GO TN N LA TN RS IS A T oF 1 B
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX'5136A JMF SIZE: A1 1 OF 1 B
F E | D | C | B | A 1025420W Rev. A



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View11
	Section View A-A
	Drawing View14


